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(i) EUE-%F 5 Io7 §&I71 820 7% 20 ¥ & 0d I Y9 Uk 3% BT 8 |
(iii) @UE-& 7 J97 a7 21 G 26 7% 6 I97 & U9 Y% J97 @ 37H) H1 8 |
(iv) @US-TH J97 G&I727 G 34 T 8 J97 8 Td oo Jo7 i 3] H7 2 |
(v) @UE-T 5T &I 35 G40 T 6 F97 8 T Ycdeh J97 R b H1 8 /|

(Vi) To-9 H GHI W I3 [9%c7 767 & | T TH-0h 3 alct & T 7, @1-5) bl
FIc7 & J91 H, -7 37b] dict i T 3, aR-TR b1 drct @i Fe1 J AaRE
fa%cY 13T 7 & | 08 o] 7 @aer U & faded @7 IR 71T |

(vii) 3G HART, FTTHAFTIR, TF JFHIT 3K T 3 19 TETT 757 7T 7T &

(viii) SeTpeIet 3 FINT &) HFHT T8 |

TUE -F
T AT 1 — 10 Th Tgiashed] T34 & FoFTH Tcieh =1 1 37k 2 | T forehed g |
1. TE 196 % ANSI-TUHEUESA § THS TUEUS] ! =TdT T AN &
(a) 3 (b) 4 (© 5 (d) 2

2. Yfacrs favTsH THRERT % STTER &1 9T qUTi a 3R b < fow TEh sifgea qof s
q 3N rformm &6 a=bq +rawm

(a) 0<r<b (b) 0<r<b
(c) 0<r<b d) 0<r<b
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General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A
Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. The sum of exponents of prime factors in the prime-factorisation of 196 is

(a) 3 (b) 4 (© 5 (d 2

2. Euclid’s division Lemma states that for two positive integers a and b,
there exists unique integer q and r satisfying a = bq + r, and

(a) 0<r<b (b) 0<r<b
(c) 0<r<b (d 0<r<b
.30/2/1. | 3 P.T.O.
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3. WgIx’—3x—m (m+3)HIYIRT :
() m,m+3 (b) —m, m+ 3 (¢ m—-—(m+3) (d —m,—(m+3)
4. k1 ag A e fore Was afemm e x + 2y = 3, 5x+ ky + 7= 0 3T g, B
@) 5 O © 5 @ 10
5. foama @fem x> —0.04=0% A & :
(a) +0.2 (b) +0.02 (c) 0.4 d 2
6. wmaaﬁi,l—gp,l;pzp, ...... T HEAN S
@) 1 ® © -1 @ 5
7. Hﬂiﬁ'{aﬁﬁa, 3a, ba, ...... 1 ndl IS 8
(a) na (b) @n—-1)a (c) @n+1)a (d) 2na
8.  x-31& v fera foig P il foigati A(-1, 0) 71 B(5, 0) § &G 8, & :
(@) (2,0) (b) (0, 2) ) (3,0 (d) (2,2
9. Wﬁg%ﬁ%ﬂﬁﬁﬁﬁg (=3, 5) T x — 31T 4 Y& (reflection) &, & :
(@) (3,95) (b) (3,-5) (¢) (=3,-5) (d) =3,9)
10. 3fg fog P (6, 2), o3t A6, 5) a1 B(4, y) i e aTel {@@US &1 3 : 1% I
THRAIe, Wy HIAF R :
(a) 4 (b) 3 (¢) 2 (d) 1
.30/2/1. 4
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3. The zeroes of the polynomial x> — 3x — m (m + 3) are
(a) m, m +3 (b) —nm, m +3 (C) m, _(m + 3) (d) —In, _(m + 3)

4. The value of k for which the system of linear equations x + 2y = 3,
5x + ky + 7 = 0 is inconsistent is

2
@ 5 ) © 5 @ 10

5. The roots of the quadratic equation x> — 0.04 = 0 are

(a) +0.2 (b) +0.02 (c) 0.4 (d) 2
11-p1-2
6. The common difference of the A.P. 5, _pE, p 1s
1 1
@ 1 ® 5 © -1 @ —5
7.  The nth term of the A.P. a, 3a, 5a, ...... is
(a) na (b) @n—1)a (c) @n+1)a (d) 2na

8.  The point P on x-axis equidistant from the points A(—1, 0) and B(5, 0) is
(a) (2,0) (b) (0, 2) (©) (3,0) (d) (2, 2)

9. The co-ordinates of the point which is reflection of point (-3, 5) in x-axis
are

(& (3,9) (b) (3,-5) © (=3,-5) (d) 3,5)

10. If the point P (6, 2) divides the line segment joining A(6, 5) and B(4, y) in
the ratio 3 : 1, then the value of y is

(a) 4 (b) 3 (© 2 d 1

.30/2/1. | 5 P.T.O.
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T T 11 8 15 b | o T 9T | T 37 1 ITh HT1 2 |

11. 3R 1HMN | BCZaamAM: MB=1:23%,@
ar(A AMN)
ar(A ABC)
A
M N
B C
JATRTd-1
12. @ E 3Tpfa 2 ®, &€ PB = i
N
B
JATRId-2
13. T AABC # AB = 63 &ft, AC = 12 &t @2 BC = 6 ¥ € | «B ! 79 8
e
AL grEu B g, Ffe SR AT e # |
14. (tan 1°tan 2°...... tan 89°) w1 U ST & .
15. 3TTepfd 3§ 9%q A 1 fogati O, 741 O, § <T@ T & FaTH HIv HA: 3 ,
' 0, 0,
60°
A 5 i
JATRId-3
.30/2/1. 6
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In Q. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark.

11. Infig. 1, MN || BCand AM : MB =1: 2, then

ar(A AMN)
ar(A ABC)
A
M N
B C
Fig.-1
12. In given Fig. 2, the length PB = cm.

A

\ ¥

B
Fig.-2

13. InAABC,AB= 6\/5 cm, AC=12cm and BC =6 cm, then /B =
OR

Two triangles are similar if their corresponding sides are
14. The value of (tan 1° tan 2°...... tan 89°) is equal to

15. In fig. 3, the angles of depressions from the observing positions O, and O,
respectively of the object A are ,

Oy O,
60°
A B C
Fig.-3
.30/2/1. | 7 P.T.O.
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T 16 & 20 ok oY IR TR o T &, FH I3 1 STh H1 2 |
16. I sin A + sin? A = 1 8 @1 &5 (cos? A + cos* A) =T HH ITd <HIfoTT |
17. 3hfd 4 ¥ Brse1 10.5 9.1, arel 99 1 T rerave fe ® | 56 Preegve o ufmm

EIEAIEI (n=2_72?*ﬁﬁm)

V
0
ATRId—4
18. 3f¢ @@t -3, -2, -1, 0, 1, 2, 3 H ¥ U W& x Ao I T8 a1 &2 < 4
TRreRdT AT T |
toC]

Tepeft amg=ma o U g 9§ 52 ferar g Y Tifehdr o 2
19. i 10 — 25 3T 35 — 55 o o7 Tug 1A BT |
20. TUeh UTHT Ush SR 3BT 7T | Ueh 3THTT TAT  3TH <hl MRhar =T 8 ?
Qe - @
T3 TEAT 21 H 26 T T I3 o 2 37 § |

21. T LAY A 3194 10 Terenfof=i § &yl S Th SIS T Teh o AT b 959G fof@ant
T & e | feRi s = S
2x+3, 32+ Tx+2 43 +32+2 2+3x+7, Tx+[7, 52— Tx+2,

5 1 1
202+ 3—", 5x—75, ad+bx?+cx+d, x+-
X 2 X

T 9 & 3T e
() 3w g8 H fepa wgue el & 2
(i) IWIed g8 4 fepar fgumd sgue 8 ?
22. M 5 H T & €N BC W & g1 Brysi ABC @21 DBC & | af¢ AD 11 BC %1 O
W h1edl g, al guIisu b
ar (AABC) AO
ar(A DBC) ~ DO

.30/2/1. 8
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Q. Nos. 16 to 20 are short answer type questions of 1 mark each.
16. If sin A + sin? A = 1, then find the value of the expression (cos? A + cos* A).

17. In fig. 4 i1s a sector of circle of radius 10.5 cm. Find the perimeter of the

22
sector. (Take = 7)

V
O
Fig.-4

18. If a number x is chosen at random from the numbers -3, -2, -1, 0, 1, 2, 3,
then find the probability of x* < 4.
OR

What is the probability that a randomly taken leap year has 52 Sundays ?
19. Find the class-marks of the classes 10-25 and 35-55.
20. A die is thrown once. What is the probability of getting a prime number.

Section - B
Q. Nos. 21 to 26 carry 2 marks each.
21. A teacher asked 10 of his students to write a polynomial in one variable
on a paper and then to handover the paper. The following were the
answers given by the students :

2x+ 3, 32+ Tx+2, 4 + 322+ 2, x> +/3x+ 7, 7x+\/’_7, 5x3 — Tx + 2,
5 1 1
2x2+3—;, 5x -7, ax+bx2+cx+d, x+

Answer the following questions :
(1) How many of the above ten, are not polynomials ?
(11) How many of the above ten, are quadratic polynomials ?

22. In fig. 5, ABC and DBC are two triangles on the same base BC. If AD
itersects BC at O, show that
ar AABC) AO
ar(A DBC) ~ DO

.30/2/1. | 9 P.T.O.

Nurturing Success of Every Child https://deekshalearning.com




o Deeksha

i

3TTRI 6 1 AfG AD L BC 2 @ fog IfWe 6 AB? + CD? = BD? + AC~

A

B

A
THfA-6
cot? a
23. fagshifSu: 1 + 17 cosec g = CoseC
3T

T9ITsu foh tan*0 + tan20 = sec*0 — sec20
. . 1
24. T AGI SoH, FEhl SHaTE 3Eehl B < w9 ®, W1 ST 25;8?@7?[% | 39

o 1 Feré A BRI | (= 22 i)

25. Weh &= & U@ UH1 I1ET @ FSeeh worent W fmrforfiga srem sifea 2
LA][B][C|[D][E][A]
3 YTH ] Ueh S theh! STTAT & | $Heh! &1 TRk & foh (1) A I &1 (i) D 9T &t ?

26. T SHERAT S 1 Igaeh 1A hIST :

T AHR (04 |4 -8(8—12 (1216 |16 —20 |20 — 24 |24 — 28
(& 1)
TRERAT 5 7 9 17 12 10 6

QU - T
9 ST 27 9 34 T Tcdeh 999 3 Ak hi 2 |

27. AR 2 +y =23 4x—y =198, @ (5y — 2x) TAT (l-zJasmaﬁzﬁﬁm
X

JAeran
x¥ R g R - =50, x4, T
28. T3T foh 37 THIR &, fSoen 32m ue a g, fodia ue b 2 aun 3ifaw v ¢ g, & ¥t uai

(a+c)(b+c—2a)
T I 50b_a) o T 2 |

HAYS

o= gt =61 g Shifsi
1+4+7+10+...+x=287.

.30/2/1. 10
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In fig. 6, if AD 1L BC, then prove that AB?> + CD? = BD? + AC?.

7

B A
Fig.-6
cot? o
23. Provethat 1+ -—— — = cosec a
1 + cosec o

OR
Show that tan*0 + tan?0 = sec*0 — sec?0
24. The volume of a right circular cylinder with its height equal to the radius
1 22
1s 25 ” cm?. Find the height of the cylinder. (Use n = 7)

25. A child has a die whose six faces show the letters as shown below :
lA|[B]|[C|[D|[E|[A]
The die is thrown once. What is the probability of getting (1) A, (i) D ?

26. Compute the mode for the following frequency distribution :

Size of items |[0—-4(4-8|8-12|12-16|16—20 |20 —24 |24 —28
(in cm)
Frequency 5 7 9 17 12 10 6

Section - C
Q Nos. 27 to 34 carry 3 marks each.

27. If2x+y =23 and 4x—y =19, find the value of (5y — 2x) and (l —ZJ.
x

OR
1 11

Solveforx:m —%+7 -30°

x#-4,17.

28. Show that the sum of all terms of an A.P. whose first term 1s a, the second

+c)(b+c—2
term 1s b and the last term is ¢ is equal to @ C%((];)_ :) =

OR
Solve the equation :
1+4+7+10+ ... +x=287.

.30/2/1. | 11 P.T.O.
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29. 600 fop. . 6t IgH & U IIIH h Tfd TS HEH % HROT e & TE | = 6 3N
=1 200 Top.1ft. /82 69 & TR qur I 1 ' 30 e s T | IEn § @ e o e
THT T I |

30. afe feigatt A(3, 4) @1 B(k, 6) 1 firei a1t Yaree 1 fig P (x, y) B@2m  x+
y—10= 0%, d k o7 qH F1d HIT |

A
Frast ABC, for A (1, —4) @1 A 8 STH aTeft ySiaAt & wed foig (2, —1) 71 (0, —1)
2, 1 el T HIT |
31. 3mpfd 7H Al A ABC ~ A DEF 2 1 3sh! S[S13T1 <hl wamgat (9l #) 39 W 3ifha &,
A Ik T <t eTiat Y ofeE 3 I |
A D
B 2x+2 C E 3x+9 F
THA-7

32. afe wsh g Wb FBrgs ABC <t YT BC %1 P W T3 hiaT & qei ol g2t YSati AB a
AC 1 A Q YT R W Tq3f tan &, ot firg hifore fop
AQ=%(BC+CA+AB)

33. 'éilﬁsin9+cos9=\/§ 2, a1 forg FITT 6 tan 6 + cot 6 = 2.

34. T JATHR WA o HGH T &6 22176 THIZE | 36 HTH & IR 3T 1S M 1 &
% 50 Tfa et & wre @ F1a HIfT |

QU - °
I HE&AT 35 | 40 T TS I 4 ITH H1 2 |

35. fag HTfr[5 T i den? |

36. <l 9TS9l o T ¥ Tsh qU-AT (swimming pool) i 12 8 T 9 ST Fehdl 8 | IS &S
ST ITe] YTST Sl 4 TS TIT i qT DI SATH et 59 b1 9 TS JF L dl dTeT e
T AT Gehdl & | Tedeh UTEY o1 dTed WA o oTT STeT- 3T Tehe T T8 &N 2

.30/2/1. 12
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29. In a flight of 600 km, an aircraft was slowed down due to bad weather.
The average speed of the trip was reduced by 200 km/hr and the time of
flight increased by 30 minutes. Find the duration of flight.

30. If the mid-point of the line segment joining the points A(3, 4) and
Bk, 6) i1s P (x, y) and x + y — 10 = 0, find the value of k.
OR
Find the area of triangle ABC with A (1, —4) and the mid-points of sides
through A being (2, —1) and (0, —1).

31. In Fig. 7, if A ABC ~ A DEF and their sides of lengths (in cm) are marked
along them, then find the lengths of sides of each triangle.

A D
ZXN 18 (e
B 2c+2 C E 3x+9 F
Fig.-7
32. If a circle touches the side BC of a triangle ABC at P and extended sides AB

and AC at Q and R, respectively, prove that

AQ=% (BC + CA + AB)

33. Ifsin®+cosB= \/5 , prove that tan 6 + cot 6 = 2.

34. The area of a circular play ground is 22176 cm?. Find the cost of fencing
this ground at the rate of ¥ 50 per metre.

Section - D
Q. Nos. 35 to 40 carry 4 marks each.

35. Prove that \/5 is an irrational number.

36. It can take 12 hours to fill a swimming pool using two pipes. If the pipe of
larger diameter is used for four hours and the pipe of smaller diameter for
9 hours, only half of the pool can be filled. How long would it take for each
pipe to fill the pool separately ?

.30/2/1. | 13 P.T.O.
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37. 2 Gl 3= 1 U o1 SATST et g O 8 A1 91 § 98t U feig P 36 TR A
R OP=6.50.1. 2 | P8I0 gl &=l {@d @i |
Jrera

13Tl 5 THft, 6 T qen 7 afl arel Uk S i T i | TR T o B it
e iR v e el g 1 e s S T A

38. ¥fH % U foig ¥ T 20 W. 59 o o RIE W of T HAR & 7 3R et 6 31—
1T SHART: 45° TUT 60° & | AT h H=TS Hd HITT |

39. 3Rl 8 H {WIfehd & I &ABA T hilTC AT PQ = 24 T#fl, PR = 7 &t @41 O 91
HHSE |

T W% o ~Teh o a3k I8 I &A% 1A Shiog TEeh i Rl o = 20 Hh.ae
6 Y. 2 9 3Teh! s 24 1. 7 |

40. T SRETAT S HTHIET 18 8 | I STt 19 — 21 < SRART £ e 7 | £ 71 ShIfre |
e | 11-13[13-15[15-17[17-19[19-21[21-23]23 - 25

TRETET 3 6 9 13 f 5 4
Ao

fret qrfetent weh Tt 3 100 1 % BrHi o wfer R Ieure g B

IR 40— 45[45 5050 — 55]55 — 60]60 — 65] 65— 70

wrEl o wE 4 6 16 | 20 | 30 | 24

Y &2 Bl “Y 30k T 6" & o &Y H Feetohl IHehT Ul i |

.30/2/1. 14
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37. Draw a circle of radius 2 cm with centre O and take a point P outside the
circle such that OP = 6.5 cm. From P, draw two tangents to the circle.

OR

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then construct

another triangle whose sides are 1 times the corresponding sides of the

first triangle.

38. From a point on the ground, the angles of elevation of the bottom and the
top of a tower fixed at the top of a 20 m high building are 45° and 60°
respectively. Find the height of the tower.

39. Find the area of the shaded region in fig. 8, if PQ = 24 cm, PR = 7 cm and
O is the centre of the circle.

OR

Find the curved surface area of the frustum of a cone, the diameters of
whose circular ends are 20 m and 6 m and its height is 24 m.

40. The mean of the following frequency distribution is 18. The frequency f in
the class interval 19 — 21 is missing. Determine f.

Class interval |11 —13|13-15{15-17|17-19(19-21|21-23(23 -25
Frequency 3 6 9 13 f 5 4
OR

The following table gives production yield per hectare of wheat of 100
farms of a village :

Production yield [40-45{45-50|50—-55|55-60]|60—65|65—70
No. of farms 4 6 16 20 30 24

Change the distribution to a ‘more than’ type distribution and draw its ogive.

.30/2/1. | 15
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